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CHEMISTRY
Paper-]
INORGANIC CHEMISTRY

Time : 3 Hours
Maximum Marks : 33

Note: Attempt five questions in all, selecting one question from each unit.
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(1) No supplementary answer-book will be given to any candidate. Hence

the candidates should write the answers precisely in the main answer
book only,
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(2)  All the parts of one question should be answered at one place in the

answer-book. One complete question should not be answered at
different places in the answer-book.
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UNIT -1
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Explain the h.\"t“?‘ W 5 ‘ 3+2+2=7
@ MnOQ is hasic, M0yO; is amphoteric and MnO, is acidic.

[Co(NH,),]*" diamagnctic but [CoF]*~ paramagnetic.

’ L]
Cut ions are colourless and Cu“* jons are coloured,
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MnO & 2, Mn,0, S 3 MnO, 3nafta ¥ |
[Co(NH,), ]+ sfograshia & Ry [COF )3~ sggmaehia |

Cu* 375 TR ay1 Cut A T e &

Write a detailed note on ability of second and third transition series to form

complexes. 3+4=7
Discuss the oxidation state of element of second ang third transition serfes in

comparision to the element of first transition series,

fada w@ gfta geemwr Avft & ol % dpe TR B vaf © o Py fafyg |

wyu wsgur Soft Y gon A fydre qun ete S doft & ol Y sifadieo
FAEAT3AT i ST FI |

UNIT - 1I

0 B 1
Explain optical isomerism for co-ordinational number six.
Explain concept of effective atomic number with example.
Explain ligand and chelate by taking two examples eagh.
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2%4+2+2=6%

Write the IUPAC name of the following compoynds :
frefefaa A % [upAC T fora -

(1) Na[Ag(S5,0,)]
(i) [Cr(NH,); ONO}Ci,
(i) [Cr(en),] [Cr(C,0,);}

(iv) [Coen), CL]C!
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5. (a)
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Write the tormula of the f{‘-llnwmg compounds
(1) Tetracyamdonickelate (1) fon.

(1) Tetraamine aquabromide cobalt (I11) Nitrate.
(i) Tetraaqua dichlorido chromium (111) lon.
(iv) Octaaqua-H-dlhydmxidodiirom 1) Sulphate.
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Explain the inner and outer orbital complexes with example. L 2R 2=E4
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UNIT - HI
v - II1

What do you understand by lanthanide contraction ? Explain the consequence of
lanthanide contraction.

Explain why lanthanides have less tendency of complex compounds formation.
4+2Yi=6%
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6.  Explain why ?

(a)

Complexation tendency of actinides is greater than that of lanthanide.

(b) Some covalent properties are present in the compounds of actinides.
(c) Binding energy of Sf orbital in actinides is lower than that of 4f orbitals in

lanthanides, 21+2+2%=6%
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UNIT - IV
-1V

7. Explain :

()
(b)

Redox Stability of Water.
Frost diagram.

(¢)  Disproportionation and Comproportionation
' 2+2+ A
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9. (a)
(b)
(a)
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What is redox-potential ? How does the reactivi .
act
redox-potentials ? ivity of elements depend upon their

ing different species of Mn xample. 2% +4=¢
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UNIT -V
W -V

Discuss Lux-Flood theory of acid-base. On the basis of acidity scale explain the
behaviour of acidic, basic and amphoteric oxides,

Explain behaviour of acetic acid if water, liquid ammonia and sulphuric acid are
taken as solvent respectively. https://www, pdusuonline.com F3=6%
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10.  Discuss the reactions occurring in liquid SO, : 2+2+2%= 6%
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(b)
(c)

Acid-base reactions.
Precipitation reactions.
Solvolysis reactions.
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